

$$f(x, y) = x^4 + y^4 + 6x^2y^2 + 8x^3$$

$$\frac{\partial f}{\partial x} = 4x^3 + 12xy^2 + 24x^2 = 0 = 4x(x^2 + 3y^2 + 6x) = 0 \quad \text{I}$$

$$\frac{\partial f}{\partial y} = 4y^3 + 12x^2y = 0 = 4y(y^2 + 3x^2) = 0 \quad \text{II}$$

1) A(0,0)

II Si $x \neq 0 \Rightarrow y = 0$. Si usò I $x^2 + 6x = 0$

$x(x+6) = 0 \Rightarrow x = -6$

2) B(-6,0)

$$\frac{\partial^2 f}{\partial x^2} = 12x^2 + 12y^2 + 48x$$

$$\frac{\partial^2 f}{\partial y^2} = 12y^2 + 12x^2$$

$$\frac{\partial^2 f}{\partial x \partial y} = 24xy$$

$$H_f(A) = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}$$

$$H_f(B) = \begin{pmatrix} 12 \cdot 36 - 48 \cdot 6 & 0 \\ 0 & > 0 \end{pmatrix} = \begin{pmatrix} > 0 & 0 \\ 0 & > 0 \end{pmatrix}$$

definit pozitivnih.

$$f(x, y) = x^4 + y^4 + (x+y)^2 + 2$$

$$x^3 - y^3 = (x-y)(x^2 + xy + y^2)$$

$$\frac{\partial f}{\partial x} = 0 = 4x^3 + 2(x+y) = 0 \quad \text{I}$$

I - II

$$4x^3 - 4y^3 = 0$$

$$x^3 = y^3 \Leftrightarrow x = y$$

$$\frac{\partial f}{\partial y} = 0 = 4y^3 + 2(x+y) = 0 \quad \text{II}$$

$$4x^3 + 4x = 0 \quad 4x(x^2 + 1) = 0$$

$$A(0, 0), B(\cancel{x}, 1), C(\cancel{-1}, -1)$$

$$\frac{\partial^2 f}{\partial x^2} = 12x^2 - 2$$

$$\frac{\partial^2 f}{\partial y^2} = 12y^2 - 2$$

$$\frac{\partial^2 f}{\partial x \partial y} = -2$$

$$H_f(A) = \begin{pmatrix} -2 & -2 \\ -2 & -2 \end{pmatrix}$$

$$H_f(B) = \begin{pmatrix} 10 & -2 \\ -2 & 10 \end{pmatrix} = H_f(C)$$

dehnen pontos

$$\det H_f(B) > 0$$

$$f = x^4 + y^4 + z^4 - 2(x^2 + z^2) + y^2$$

$$\frac{\partial f}{\partial x} = 4x^3 - 4x = 0$$

$$4x(y^2 - 1) = 0$$

$$x=0, x=1, x=-1$$

$$\frac{\partial f}{\partial y} = 4y^3 + 2y = 0$$

$$2y(2y^2 + 1) = 0$$

$$\Rightarrow y = 0$$

$$\frac{\partial f}{\partial z} = 4z^3 - 4z = 0$$

$$4z(z^2 - 1) = 0$$

$$z=0$$

$$z=1$$

$$z=-1$$

$$A(0, 0, 0) \quad (0, 0, 1) \quad (0, 0, -1)$$

$$B(1, 0, 0) \quad (1, 0, 1) \quad (1, 0, -1)$$

$$(-1, 0, 0) \quad (-1, 0, 1) \quad (-1, 0, -1)$$

$$\frac{\partial^2 f}{\partial x^2} = 12x^2 - 4$$

$$\frac{\partial^2 f}{\partial y^2} = 12y^2 + 2, \quad \frac{\partial^2 f}{\partial z^2} = 12z^2 - 4$$

$$\frac{\partial^2 f}{\partial x \partial y} = 0$$

$$\frac{\partial^2 f}{\partial x \partial z} = 0$$

$$\frac{\partial^2 f}{\partial y \partial z} = 0$$

$$f(x, y) = \begin{cases} xy \log(x^2 + y^2) & (x, y) \neq (0, 0) \\ 0 & (x, y) = (0, 0) \end{cases}$$

$$\frac{\partial f}{\partial x}(x, y) = y \log(y^2 + x^2) + \frac{2x^2 y}{y^2 + x^2} = 0$$

$$\frac{\partial f}{\partial y} = x \log(x^2 + y^2) + \frac{2y^2 x}{x^2 + y^2} = 0$$

$$\frac{\partial f}{\partial x}(0, 0) = \frac{\partial f}{\partial y}(0, 0) = 0 \quad \left(\text{debemos } \frac{\partial f}{\partial x} \frac{\partial f}{\partial y} \text{ ser cont.} \right)$$

$$(x, y) \neq (0, 0) \quad x \left((x^2 + y^2) \log(x^2 + y^2) + 2y^2 \right) = 0 \quad (1)$$

$$y \left((x^2 + y^2) \log(x^2 + y^2) + 2x^2 \right) = 0 \quad (2)$$

$$\begin{cases} \text{L} \\ (x, y) \rightarrow 0 \end{cases} \quad f(x, y) = 0$$

$$\begin{cases} x = r \cos \varphi \\ y = r \sin \varphi \end{cases} \Rightarrow f(r, \varphi) = r^2 \sin \varphi \cos \varphi \cdot \log r^2$$

$$\begin{matrix} (r^2 \log r^2) \sin \varphi \cos \varphi & \rightarrow 0 \\ \downarrow & \text{acotado} \\ 0 & \text{de } \varphi \\ \downarrow & \\ r \rightarrow 0 & \end{matrix}$$

$A(0, 0) \quad ?$

$$(1) \quad \begin{array}{l} x=0 \\ (y \neq 0) \end{array} \Rightarrow \begin{array}{l} \text{all sample!} \\ (2) \quad x=0 \quad y \neq 0 \end{array} \quad u^2 \log y^2 = 0 \quad y = \pm 1$$

$$A_1(0, 1) \quad A_2(0, -1) \quad B_1(1, 0) \quad B_2(-1, 0)$$

$$(2) \quad x=0 \quad y=0 \quad x^2 \log y^2 = 0 \Rightarrow x = \pm 1$$

$$(1) (2) \Rightarrow \text{Hesitand to see esth entre ()} \Rightarrow \begin{array}{l} 2x^2 - 2y^2 = 0 \Rightarrow x^2 = y^2 \\ x = \pm y \end{array}$$

$$x \neq 0 \text{ e } y \neq 0$$

$$(2) \Rightarrow \begin{array}{l} 2x^2 \log 2x^2 + 2x^2 = 0 \\ 2x^2(1 + \log 2x^2) = 0 \end{array} \quad \log 2x^2 = -1$$

$$2x^2 = e^{-1} \Rightarrow x = \pm \frac{1}{\sqrt{2e}}$$

$$C_1 = \left(\frac{1}{\sqrt{2e}}, \frac{1}{\sqrt{2e}} \right) \quad C_2 = \left(\frac{-1}{\sqrt{2e}}, \frac{-1}{\sqrt{2e}} \right) \quad D_1 = \left(\frac{1}{\sqrt{2e}}, \frac{-1}{\sqrt{2e}} \right) \quad D_2 = \left(\frac{-1}{\sqrt{2e}}, \frac{1}{\sqrt{2e}} \right)$$

Hs